ECON103
European Economic Issues

CLASS Cycle 2: Weeks 5 & 6
Please prepare answers to these questions before class, using your lecture notes and references in the course outline. Not all the answers are in the text or have been covered yet. You are expected to use your existing knowledge to think about the answers.
1) What are the objectives of the Common Agricultural policy

2) Attempt the following 2 questions from Sloman p83 5th Edition
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1. Assume that the (weekly) market demand and supply
of tomatoes are given by the following figures:

Price (£ per kilo) 4.00 3.50 3.00 2.50 2.00 1.50 1.00

Q, (000 kilos) 30 35 40 45 50 55 60
Q, (000 kilos) 80 68 62 55 50 45 38

(a) What are the equilibrium price and quantity?

(b) What will be the effect of the government fixing a
minimum price of (i) £3 per kilo; (i) £1.50 per kilo?




[image: image2.png]{¢) Suppose that the government paid tomato
producers a subsidy of £1 per kilo. (i) Give the
new supply schedule. (i) What will be the new
equilibrium price? (iii) How much will this cost
the government?

(d) Alternatively, suppose that the government
guaranteed tomato producers a price of £2.50
perkilo. (i) How many tomatoes would it have
to buy in order to ensure that all the tomatoes
produced were sold? (i) How much would this
cost the government?

(e) Alternatively, suppose it bought allthe tomatoes
produced at £2.50. (i) At what single price would
ithave to sell them in order to dispose of the lot?
(ii) What would be the net cost of this action?




[image: image3.png]2. Think of two things that are provided free. In each
case, identify when and in what form a shortage
might occur. In what ways are/could these shortages

be dealt with? Are they the best solution to the
shortages?




3. Review the analysis on p 45 & 46 of your notes and consider the diagram below where the demand curve is MORE elastic than the unitary price elasticity demand curve. How should the government use the intervention buffer to intervene in this market to stabilise incomes? 
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How would economic shocks have to be distributed for this policy of intervention to work? (I want an intuitive answer, not a statistical one). 

4. Complete the following questions from Sloman p87, 6th edition.

[image: image5.png]Hisiiale on four separate diagrams (as in Figure 3.5)
the effect of different elasticities of demand and
supply on the incidence of a subsidy.

- Why are agricultural prices subject to greater
fluctuations than those of manufactured products?

. Compare the relative benefits of subsidies and high
minimum prices (as under the CAP) to (a) the
consumer; (b) the farmer.

- The EU is more than self-sufficient in a number of
commodities. Does this mean that the objectives
of the CAP have been achieved? What has been
the cost of achieving this success? What do you
think would have happened in the absence of the
CAP?

. In what ways have the MacSharry and Agenda 2000

reforms solved the problems experienced under the
CAP?




